
A  = cw;gj;jpahsDila tpsk;gur; nryT 

 

Neu;Nfhl;bd; mbg;gilapy; Fwpg;gpl;l Nfs;tpj; njhopw;ghl;bid gpd;tUkhW 

tiuyaWf;fshk; 

 

Qd = a – bp 

 

NkYk; re;ijahdJ gy jdpg;gl;l Efu;Nthu;fis cs;slf;fpAs;sjhy; re;ijf;fhd 

Nfs;tpj; njhopw;ghl;bid jdp Efu;Nthu;fSila Nfs;tpj; njhopw;ghl;bid $l;Ltjd; 

%yk; ngw;Wf;nfhs;sKbAk;. 

 

cjhuzk; - 01 

xU nghUspDila re;ij A, B kw;Wk; C Mfpa  jdp Efu;Nthu;fis cs;slf;fpAs;sJ. 

,tu;fSf;fhd Nfs;tp njhopw;ghL fPNo jug;gl;Ls;sJ. ,jidg; gad;gLj;jp re;ijf;fhd 

Nfs;tpj; njhopw;ghl;bid fhz;f  

 

QA = 40 – 2P 

QB = 25.5 – 0.75P 

QC = 36.6 – 1.25 P 

 

QM = QA + QB + QC 

= (40 – 2P) + (25.5 – 0.75P) + (36.5 – 1.25P) 

= (40 – 25.5 + 36.5) - (2P +   0.75P+ 1.25P) 

= 102 – 4P 

 

 re;ijf; Nfs;tp ml;ltiz 

 

re;ijapy; ,uz;L Efh;Nthh; khj;jpuk; cs;shh;fs; vdf; nfhz;lhy; re;ijf; 

Nfs;tp ml;ltiz kw;Wk; re;ij Nfs;tp tisap vd;gd gpd;tUkhW 

mikAk;. 

 

tpiy Nfs;tpj;njhif re;ijf;Nfs;tp 

A B 

Preview from Notesale.co.uk

Page 5 of 16



cjhuzk;:  

1. Fwpg;gpl;l nghUs; xd;wpw;fhd Nfs;tp Qd = 200 – 2p, kw;Wk; Qs = -25 + P MFk;. 

,jidg; gad; gLj;jp Efu;Nthd; kpif kw;Wk; cw;gj;jpahsd; kpifapid 

fzpg;gpLf. 

 

 

2. X nghUspw;fhd Nfs;tp Qdx = 100 - 5Px kw;Wk; epuk;gy;  Qsx = -20 + 3Px 

vdpd;>  

 

(i) Nfs;tp  kw;Wk; epuk;gy; ml;ltizapid fzpg;gpLf 

(ii) Efu;Nthd; kpif> kw;Wk; cw;gj;jpahsd; kpifapidf; fzg;gpLf 

(iii) Nfs;tpj; njhopw;ghl;bdJ Qdx = 150 – 5Px 

Mf khw;wkile;jhy;> efu;Nthd; kpif kw;Wk; cw;gj;jpahsu; kpifapy; Vw;gLk; 

khw;wj;jpid fzg;gpLf.  

 

kPl;ly; tpdhf;fs; 

 

,ilntsp epug;Gf 

…………………………… gz;lq;fspw;fhd tpiy mjpfupf;Fk; NghJ mjw;fhd 

Nfs;tpAk; mjpfupf;Fk;. 
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